Question 9: If x =g, y = b, Z = ¢ is a solution of the system of linear equations
x+8y+7z=10

9% +2y+3z=0

X+y+z=0

such that the point (a, b, ¢) lies onthe plane x + 2y + z = 6, then 2a + b + c equals :
(@)-1(b)0(c)1(d)2

Answer: (c)

Solution:

Given system of linear equations

Xx+8y+7z=0..(i)

9% + 2y + 3z = 0 ....(ii)

X+y+2z=0..[iii)

Operate: (ii) — 3 x (iii)

bx—-y=00ry==6x...iv)

Using (iv) in (i)

X+8(6x)+72=0

Sincex=a,y=Db, z=c (Given)
b=6baandc=-7a

Also, (a, b, c) lieson the planex + 2y +z = 6.
Therefore,a+2b+c =6 ....(vi)

Putting the values of b and ¢ in (vi),
a+2(ba)-7a=6

=>g=1

Also,wegetb=6andc=-7
Now,2a+b+c=2(1)+6-7=1



